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Your Answers: 

 

1.  __________________ 

 

 

2.  __________________ 

 

 

3.  __________________ 

 

 

4.  __________________ 

 

 
 

5.  __________________ 

 

 
 

6.  __________________ 

 

 
 

7.  __________________ 

 

 

8.  __________________ 

 

 
 

9.  __________________ 

 

 
 

10.  _________________ 

 

 

 

 

 

 

 

Think you’ve got this?  Score yourself by comparing your answers with the correct answers! 
 

Quick Check on Integer Operations 

 

1.  (-5) + 3 = ?  

 

 

2.  (- 4) + (-2) = ? 
 

 

3.  (- 6) – (- 1) = ? 
 

 

4.  (-3) – 1 = ? 
 

 

5.  (-1) + 2 – (-3) – 4 + (- 5) = ? 
 

 

6.  (-3)    2 = ?    
 

 

7.   (-2)(-1) = ?    
 

 

8.   (- 6)  (-2) = ? 
 

 

9.  (- 8)  4 = ? 
 

 

10.  (-8)    2  (- 4)    6  (-1) = ? 
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